C8Leanig

Dividing by multiples of 10, no remainders

Division Practice Worksheet

3,150 + 30 = 940 + 30 =
2,400 + 60 = 960 + 30 =
360 + 30 = 910 + 70 =
400 + 80 = 400 + 50 =
9560 + 40 = 520 + 40 =
980 + 70 = 8,050 + 70 =
780 + 60 = 400 + 80 =
780 + 60 = 240 + 30 =
5,850 + 80 = 70 + 70 =
1,980 + 20 = 960 + 60 =
400 + 40 = 660 + 10 =
8,910 + 30 = 2,400 + 20 =
3,750 + 30 = 520 + 40 =
1,860 + 30 = 800 + 40 =
2,720 + 80 = 7,260 + 20 =
3,600 + 30 = 7,920 + 40 =
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C8Leanig

Dividing by multiples of 10, no remainders

Division Practice Worksheet

3,150 + 30 = 105

2,400 + 60 = 40

360 + 30 = 12
400 + 80 = 5
560 + 40 = 14
980 + 70 = 14
780 + 60 = 13
780 + 60 = 13

5,850 + 50 = 117
1,980 + 20 = 99
400 + 40 = 10
8,910 + 30 = 297
3,750 + 30 = 125
1,860 + 30 = 62
2,720 + 80 = 34

3,600 + 30 = 120

940 + 30 = 18
960 + 30 = 32
910 = 70 = 13
400 + 50 = 8
520 + 40 = 13

8,060 + 70 = 115

400 + 80 = 5
240 + 30 = 8
70+ 70 =1

960 + 60 = 16
660 + 10 = 66

2,400 + 20 = 120
520 + 40 = 13
800 + 40 = 20
7,260 + 20 = 363

7,920 + 40 = 198
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